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ASE-Type Questions

Technician A says correct wheel alignment can
improve an automobile’s handling abitity.
Technician B suys cotrect wheel alignment can
improve an sutomobile’s fael economy. Who
1s right?

{A) A only.

(B) Bonk.

(C} Both & and B.

(D) Neither A nor B.

Technician A says one of the main fanctions of
wheel alignment is to make the tires roll
without shipping under all operating  condi-
tions. Technivian B says one of the main func-
tions of wheel alignment is to adjust for badly
worn steering parts. Who is right?

(A) A only.

{B} B only,

(C) Both A and B.

{1}) Neither A nor B.

Technician A says the term “caster” refers to
the forward or rearward #lf of the steering
knackle when viewed from the side of the car,
Technician B says the tenm “caster” refers to
the forward or rearward tilt of the tie-rod when
viewed from the side of the car. Who is right?
(A) A only

(B} B only.

(C} BothA and B,

(D) Neither & nor B.
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LECDIICIAN A Says one Of e purposes of
caster is fo aid directional control of the
vehicle. Techmician B says one of the purposes
of cagter is to load the larger inner wheel
bearing. Who is right?

{A} A anly

{B) B only

(C) Both A and B.

{13} Neither A nor B.

A car’s steering wheel does not return to the
straight-ahead  position after turning.
Technician A adjusts the antomohbile’s caster
angle. Technician B says the car’s caster angls
has nothing to do with this problem. Who is
right?

A} Aonly

(B) Bonly

{€) Both A and B,

(D Neither A nor B.

Technician A ilts the top of a car’s steering
knuckle toward the rear of the car to adjust for
“pasitive” camber, Technician B tilts the top of
the tie-rod toward the front of the ear to adjust
for “positive” caster. Who s right?

{4} A only.

(B) Bonly

{C) Both A and B.

{13} Neither A nor B.

Technician A says cars with manual steering
have more “pegative” caster than cars with
power steering. Techuician B says cars with
power steering have miore “megative™ caster
than cars with nranual steering, Who is right?
{4} A only.

(B} B only

{C} Both A and B.

(D) Neither A nor B.

Technician A says camber is the inward or out-
ward tilt of the wheel and tire assembly when
viewed from the front of the var, Technician B
says cardber is the inward or outward it of the
steering kuuckle when viewed from the front
of the car. Who is right?

{(A) A only

{B) B onk

(€] Both A and B.

{Dj Neither A nor B.
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Technician A adjusts an automobile’s samber
angle to help prevent tire wesr on the inner or
onter tread. Technician B adjusts an mmtona-
bile’s caster angle to help prevent fire wear an
the inner or cuter tread. Wh is right?

(A). A anly.

(B) - B only.

) Both# and 1t

(B} Neither A& nor B.

Technician A says with “positive™ cmmber, the
fops of the wheels it outward whan viewed
from the froot of the car. Technician B says
with “positive” camber, fhe tops of the wheels

-~ tilt inward when viswert front the front of the
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car. Who is right?

(A) Aonly.

(B} Bonly.

(C) Bowhd and B.

(D) Neither & gor B.

Technician & normally adjosts a car’s positive
camber setting at about 1/4° o 3/2°
Technician B nermally adjusts a car's positive
camber setting at abont 3° 1o 4%, Wi is right?
(A} A only.

{B} B only.

{C) Both A avd B.

{1} Neither A nor B,

Technician A says “toe-in” is produced when
the Tront of the wheels are closer together than
the fear of the wheels. Techiician B g4ys “toe-
™ &% produced when the front of the whesls
Who is right?

{4} Aanly.

(B} Bonly

{C) Both A émd B,

{D}- Neither A nor B.

. Technician A says a rearsvheel-trive car’s toe-

in setting should be 1167 to 1/4”, Technician B
says 4 rear-wheel-drive car’s te-n setting
should be 1.6 mm to 6 mne. Who is right?
{A). A only.

{8) B only.

{C) BothA and B.

(D) Neither & wor B,
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An agtomobile needs z whes! alignment.
Before performing fhis task, Technician A
checks for Toose wheel bearings. Before per-
forming this task, Technician B checks for

wheel or tire ronout. Who is right?
A} A ondy.

(B} B only.

{C) BathAandB.

(D} Neither A nor B.

Technician A zdjusts a car’s toe angle by
lengthening  or shortening the steering
kumokle. Technician B adjusts a car's toe angle

by Tenathenin g 01‘311 the fie-rods. Who
is right?

A} Aonly

(B) B only,

{C) Both A and B,
(D) Neither A nor B.

Demonstrate for your instructor a prealignment
inspection of tires, steering, and suspension of a
vehicle in the shop for a front-end alignment.

Check and adjust the caster, camber, or toe-in of
a front suspension.

Prepare a bill for an alignment, Use a flat labor
rate established by your instructor and a
$25/hour charge. Include the cost of any patts
used. Add up all costs.



